100 asp$=CHR$ (22) +CHRS$ (1) :esp$=CHR$(22)+
CHR$ ()

110 FOR stylo=0 TO 15:INK stylo,O:NEXT
120 SYMBOL AFTER 32

130 SYMBOL 124.24,24,24,24,24,24,24,24
140 SYMBOL 209.1.1,1.1.1.1,1.1

150 SYMBOL 220.40,126,255,255,253, 126,40
.24

160 SYMBOL 222,36,66,129,6b,3b6,66,129,66
170 SYMBOL 223.8,24,32,48,48,64,32.0

180 SYMBOL 224,0,4,.30,14,14,50,24,16

190 SYMBOL 225.0.0,3.63.31.3,0,0

200 SYMBOL 226,0,126,255,247,127,223,126
0

210 SYMBOL 227.16,64,32,4,14,15,14,1

220 SYMBOL 228,0,0,0,0,3,0,0,0

230 SYMBOL 229,16,24,24,125,235,126,24,1

b

240 SYMBOL 230,0,0,0,228,0,0,0,0

230 SYMBOL 231,0,36.28,92,11,0,0,0

260 5YMBOL 232,0,0,56,235,16,0,0,0

270 SYNBOL 233,0,240,246,246,246,245,280
D

2B0 SYMBOL 234.192,224,224,224,224,224.2
24,192

290 SYMEOL 235,0,16,28,31,28,16,0,0

300 SYMBOL 237,16,84,56,222,36,84,16,0
310 SYMBOL 236,136.116,8.16,16,16,8.8
320 SYMBOL 238,238,238,0,0,187,187.0.,0
I20 SYMBOL 221.0,6b.bb.bb.bb, 102,126,566
340 SYMBOL 210,0,0,0,16,0,0,64,128

350 SYMBOL 211,16,56,124,254,124,120,16
360 SYMBOL 212,128,128,128,64,32,16,16
370 SYMBOL 213,1.3,3.14,14,12,6,4

380 SYMBOL 48,0,126,102,102,102,102,126,
0

190 SYMBOL 49.0,24,24,24,24,24,24,0

400 SYMBOL 50,0,126.6,6,126,96,126,0

410 SYMBOL 51,0,126,6,30.6,6,126,0

420 SYMBOL 52,0,102,102,102,126,6.6,0
430 SYMBOL 53,0,126,96,126,6,6,126,0

440 SYNBOL 54.0,126,96,126,102,102,126,0
450 SYMBOL 55,0,62,6,6.6,6,5.,0

' 440 SYMBOL 56.0,126,102,126,102,102,126,

)
470 SYMBOL 57.0,126.102,126,6,6,126,0
480 SYMBOL 240,8,8,22,163,116,116,127,23
5

490 SYMBOL 241,136,80,50.60,56,60,127,25
3



FEN 1:INPUT ** NJZ&:N=LEN(NJ2$):IF N31Z
THEN CLS:GOTD 760
770 IF NJ1$="" THEN NJ1$="L’ANALPHABETE
18
780 IF NJ2$="" THEN NJ2$="L’ANARLPHABETE
783 PEN 2:LOCATE 2,1B:PRINT®SCORE A ATTE
INDRE FOUR GAGNER :®;:PEN J:INPUT *° FTS
786 IF PTS<1 OR PTS>999 THEN GOTO 785
787 FT8=PTS-1:PEN 1
790 CLS:SPEED KEY 1.1
8OO FOR I=1 TO 23:LOCATE I.1:PRINT CHRS$(
143):PO(1,1)=1:LOCATE 1,25:PRINT CHR$(14
31 iPDLIL25)=1:NEXT
310 FOR I=1 T0 25:LOCATE 1,I:PRINT CHR${
143):PO(1,11=1:LOCATE 23, I:PRINT CHR$(14
3):PO{25, 1) =1:NEXT
820 LOCATE 27,3:PRINT CHR$(150)+CHR$ (154
V+CHR$ (154) +CHRS (154) +CHR$ (154) +CHRS (134
14CHRS (154) +CHRS (154) +CHR$ (154) +CHRS (154
)+CHR$ (154) +CHRS (154) +CHR$ (154) +CHR$ (136
)
830 LOCATE 27 4:PRINT CHR$\149) LOCATE 4
0,4:PRINT CHR$(149)
840 LOCATE 27,5:PRINT CHR$(147)+CHR$(134
14CHRS {154 +CHRS (154) +CHRS (154) +CHRS (154
Y+CHR$ (154) +CHR$ (154) +CHRS (154) +CHR$ (154
)+CHRS (154) +CHRS (154) +CHR$ (154) +CHR$ (153
)
S0 PEN I:LOCATE 3Z,4:PRINT®WALL®:PEN 2:
LOCATE 32.7:PRINT"FAR"
860 PEN 3:LOCATE 27,%:PRINT"F & G";:PEN
1tPRINT® MESFLEDE®
870 PEN 2:LOCATE 26,13:PRINT CHR$(150)+C
HR§ (1547 +CHRS (154) +CHR$ (154) +CHR$ (154) +C
HR$ {1541 +CHRS (154) +CHRS (154) +CHR$ (154) +C
HR$ (154 +CHR$ (134) +CHRS (154) +CHR$ (134) +C
HR$ (1541 +CHR$ (136)
880 LOCATE 25, 14:PRINT CHR$(149);"SCORE
";CHR$(190) 1" ":LOCATE 40,14:PRINT CHR$(
1493
890 LOCATE 26,13:PRINT CHR$(149);"“Boabes
+":LOCATE 40,15:PRINT CHR$(149)
200 LOCATE 26,16:FRINT CHR$(151) +CHR$ (15
43 +CHRS (154) +CHRS (154) +CHRS (154) +CHRS (15
41 +CHR$(154) +CHR$ (134) +CHR$ (154) +CHR$ (15
4)+CHRS (1541 +CHR$ (154) +CHRS (154) +CHRS (13
4)+CHR$ (157}
210 LOCATE Z6,17:PRINT CHR$(149);"SCORE
"1CHR$ (192) 1 *: *:LOCATE 40,17:FRINT CHR${
149)
220 LOCATE 25,18:PRINT CHR$(149):"Boabes
: " LOCATE 40, Ib FRINT CHR${149)

LOCATE Z6,1%:PRINT CHR$(147)+CHR$(15
43+CHH$t154)+EHR$(154)+CHR$(154)+BHR!(15
43 +CHRE(154) +CHRS (154) +CHR$ (154) +CHR$ (13
§i+CHR$ (1547 +CHRS (154 +CHRS (154) +CHR$ (13
41 +CHR$ (153}

240 PEN 1:LOCATE 3Z,14:FRINT PTS1:LOCATE
IT,15:PRINT CASSE1:LOCATE 353,17:PRINT P

T5Z:LOCATE 25, 18:PRINT CASSEZ

g 1C5UB 1500

O +dtdtdtdtibbtbbbibbtbtibibees

T ott FOUTINE PRINCIPALE +
FEEE T R S R RS eR e

oo

P R - T =

1010 ¥=INTIRNDX2Z)+Z:Y=INT(RND%23)
NT{RNDEZZ1+Z:A=INT (RNDRZ3}+2

1326 FOR I=1 TC Z0:SDUND 5,200:50UND 5.4
495, S:50UND 5,400, S:NEXT

1020 EVERY UO 0 GOSUB 1810

xﬂ4 [1:605UE 1350

+2:1=1

17 OHE JOUEUR | HB4

1380 LOCATE {,V:PRINT® ¥

1090 IF (INKEY(73)=0 OR INKEY(27)=0) AND
FGIX+1, ¥ 4:1 THEN J1$=CHR$(190):X=X+1:6
oTo {210

1100 IF (INKEY{(78)=0 DR INKEY(24)=0) AND
FOIX-1,¥1421 THEN J1$=CHR$(191):X=X~1:6

0T 1210

{140 IF {INKEY(72)=0 OR INKEY(47)=0) AND
FRY,Y-124>1 THEN Y=Y-1:60T0 1210

1120 IF (INKEY(73)=0 OR INKEY(49)=0) AND
PO(X,Y+1)<31 THEN Y=Y+1:6070 1210

1130 IF INKEY(47)=0 THEN FOR I=70 TO 100
+50UND 1,1, 1:NEXT:XB=X:YB=Y:G0TO 122
1140 IF {INKEY(76)=0 DR INKEY(48)=0) THE

N XM=X:YM=Y:FO{XM,YM)=1:60TC 1310

150 1F (INKEY{72)=0 OR INKEY(47)=0) AND
INKEY{712=0 AND PO(X,Y-1)=1 AND CASSEl>

0 AND Y:2 THEN LOCATE X,Y-1:PRINT® ®:PO(

%,¥-1)=0:CASSE1=CASSEL-1:50UND 2,0,0,15,

3y, 301 Y=Y-1:60T0 1230

1160 IF (INKEY(73)=0 OR INKEY(&9)=0) AND
INEEY{71)=0 AND PO(X,Y+1)=1 AND CASSE1}

(' AND Y424 THEN LOCATE X,Y+1:PRINT® ®:F0
1%, ¥+1)=0:CASSE1=CAS5EL-1:SOUND 2,0,9,15
(30 30:Y=¥41360T0 1230

1170 IF (INKEY(75)=0 OR INKEY(27)=0) AND
INKEY(71)=0 AND PO(X+1,Yi=1 AND CASSE1>

{ AND X<Z4 THEN LOCATE X+1,Y:PRINT® ®:PO
{¥+1,Y)=0:CASSE1=CASSE1-1:50UND 2,0,0,15
30, 20:607D0 1220

1180 IF (INKEY(74)=0 OR INKEY(34)=0) AND
INKEY(71)=0 AND PD(X-1,Y)=1 AND CASSE1>

0 AND ¥>2 THEN LOCATE X-1,Y:PRINT® ®:PO{
%-1,¥1=0:CASSE1=CASSE1-1:SOUND 2,0,0,15,

3¢+ 30:X=1-1:060T0 1230

1190 IF INKEY(44)=0 AND CASSEi{1 AND PTS
1<99% THEN CASSE1=1:PTS1=FTS51-50

1200 60T0 1230

1210 IF XB<{>0 THEN PO(XB,YB)=6:XB=0

1220 IF XM{»0 THEN LOCATE XM,YM:PRINT®@"
s XR=0

1220 PEN 1:LDCATE X.Y:PEN {:PRINT Ji%
1240 IF PO(X,Y)=3 THEN SOUND 4,100,32,9,
1, 1:FTS1=PTS1+1:PO(X, V) =0

1250 IF PO{X,Y)=4 THEN FOR I=t TO 3:SOUN

D 1,50,5,7:50UND 1,0,1:NEXT I:PTSi=PTSi+

b:FO(X,YI=0

1260 IF PD{X,Y)=5 THEN SOUND i,
2:FT51=PTS1410:PO(X,Y)=0

17270 IF PO(Y Yi=f THEN PD{Y Yi=0N:PTC{=PT

25,25,7,0

§1-1:CASSE1=CASSEL-1:50UND 130,0,-1,15,2

1,30

1280 IF PO(X,Y)=7 THEN FOR 1=100 T0 1 ST

EF -20:50UND 5,1,0.5,15:NEXT T:PO(X,Y)=0

:CASSE1=CASSE1+1: PTS1=PTS1-10

1290 IF PO(X,Y)=B THEN PTS1=PTS1+50:PO(X

,Y1=0:S0UND 1,100,25,15,0,2

1300 IF PTS13PTS THEN JG$=NJ1$:60TD 1930

1301 LOCATE 35,14:PRINT*  *:LOCATE 35,1

8:PRINT PTS1:LOCATE 35,15:PRINT*  *:L0C

ATE 35, 15:PRINT CASSE1

1310 E1:60T0 1040

1320

1330 * #44 JOUEUR 2 444

1340 °

1350

1360 LOCATE 1,A:PRINT* *

1370 IF (INKEY(0)=0 OR INKEY(48)=0) AND

PO(Z,A-1)¢31 THEN A=A-1:60T0 1490

1380 IF (INKEY(2)=0 OR INKEY{49)=0) AND

PO(Z,A+1)<31 THEN A=A+1:G0TD 1490

1290 IF (INKEY(B)=0 OR INKEY(50)=0) AND

PO{I-1,A1<31 THEN I=1-1:60TD 1490

1400 IF {INKEY(1)=0 OR INKEY(51)=0) AND

PO{Z+1,A)<1 THEN I=1+1:60T0 1490

1416 IF INKEY(11)=0 THEN FOR 1=70 TO 100
souun 1,1,1:NEXT: 1B=1: AB=A: 60TO 1500
420 TF (INKEY(9)=0 OR INKEY(52)=0) THEN
ZH-Z.AH—A.FU IM, AM) =1: RETURN

1430 IF (INKEY(0)=0 OR INKEY(48)=0) AND

INKEY (79)=0 AND PO(Z,A-1)=1 AND CASSE2>0
AND A32 THEN LOCATE I,A-1:PRINT* *:PO(I
 A-11=0; CASSE2=CASSE2-1: SOUND 2,0,0, 15,3

: ..)U A=R-1:6070 1510

1440 IF (INKEY(2)=0 OR INKEY{(49)=0) AND
INKEY(793=0 AND PO{Z,A+1)=1 AND CASSE2>0
AND A<2% THEN LOCATE I.A+1:PRINT® *:POI

z A+1)=0:CASSE2=CASSEZ-1:S0UND 2,0,0,15,
3,,30:A=A+1:60T0 1510

1450 IF (INKEY(8)=0 OK INKEY(50)=0) AND

INKEY(79)=0 AND PO(I-1,A)=1 AND CASSE2>0
AND 732 THEN LOCATE I-1,A:PRINT* *:F0{(I

-1,A)=0:CASSE2=CASSEZ-1:50UND 2,0,0,15,3

s 30:2=1-1:60TC 1510

1450 IF (INKEY(1)=0 DR INKEY(51)=0) AND

INKEY(79)=0 AND FO{Z+1,A)=1 AND CASSEZ>0
AND I{24 THEN LOCATE I+1,A:PRINT® *:PO(

1+1,A1=0: CASSE2=CASSE2-1:S0UND 2,0,0,15,

3,301 7=1+1:60T0 1510

1470 IF INKEY(4)=0 AND CASSEZ

{999 THEN CAS5EZ=

1480 GOTO 1510
§%(204) :FOIFH, PV)=7:FOR 1=t
0 T0 1 STEP-S:SO0UND 3.d,1,1
1:RETURN ELSE RETURN ‘
1860 PH=INT (RND$25)+1:PY=INT (RND$25) +1:1
F FD(PH,FV)=0 THEN LOCATE PH,PV:PRINT CH
R$(205) :PO(PH, PY)=8: S0UND 1,150,20,7,0,2
:RETURN ELSE RETURN

1870 RETURN

1880 °

1650 * RSRRIRXLRIRRRLLLLLILLS

1000 * %% FIN DE PARTIE Tt

{1 AND PTS2
1:PT52=PT52-50

0 3:FOR J=5
TNEXT J:NEXT



1910 ° IRRERRERARAIRRLLL0LL0R

1920 7

1930 LOCATE 1,25:FOR I=1 TD 26:PRINT:NEX

TI

1940 FEN 1:LOCATE 13,2:PRINT CHR$(150)+C
HR$ (154) +CHRS (154) +CHRS (154) +CHR$ (154)+C
HR$(154) +CHR$ (154) +CHR$ (154) +CHRS (154) +C
HR$ (154) +CHRS (154) +CHR$ (154) +CHRS (154) +C
HR$ (156) -

1950 LOCATE 13,3:PRINT CHR$(149):LOCATE
&, 3:FRINT CHR$(149):LOCATE 13,4:FRINT C
HR$(147)+CHRS (154) +CHR$ (154) +CHR$ (154) +C

HR$ (154) +CHRS (134) +CHR$ {154) +CHRE {154) +C

HE$(154) +CHR$ (154) +CHR$ (154) +CHR$ (154)+C

HR$ (154) +CHRS (153}

1960 PEN 2:LOCATE 18,3:PRINT*WALL":PEN 3
:LOCATE 12,6:FRINT"Meilleurs scores®
1570 LOCATE 1,11:PEN 1:FRINT Jb%;:PEN 2
PRINT" gagne cette partie !!!®

1980 LOCATE 16,15:FRINT"BRAVO !!t!®

1990 PEN 1:LOCATE 10,24:PRINT®UNE AUTRE

PARTIE (D/N}®

2000 A$=UFFER$CINKEYS$):IF A$="0" THEN RU

N ELSE IF A$="N" THEN SPEED KEY 20,1:END
ELSE 50TO 2000

1420 1F IB<0 THEN FO(ZB,AB)=b:1B=0

1300 IF ZM<30 THEN LOCATE ZM,AM:PRINT"@®

1IN=0

1510 PEN Z:LOCATE Z,R:PRINT CHR$(192)

1520 IF PO{Z,A)=3 THEN SOUND 2,100,20,14

0, 1PO(T,A)=0:PTEZ=PTE241]

1530 IF PO{Z,A)=4 THEN FOR I=t TO 3:SOUN

D 1,50,5,7:S0UND 1,0,1:NEXT I:PTS2=PT52+

ArPOM,AY=0

1440 IF PO(Z,A)=5

21FTS2=FT52+10:PO(Z,A)=0

1550 IF FO(Z,A)=6 THEN PO(I,A)=0:FTS2=PT

52-1:CASSEZ=CASSEZ-1:50UND 130,0,-1,15,2

30 '

1560 IF PO{Z,A)=7 THEN FOR I=100 TO 1 ST

EP -20:50UND 5,1,0.5,13:NEXT T:FO(I,A)=0

:FT82=PT52-10:CASSE2=CASSE2+]

15 0 IF PO(I,A)=B THEN PTS2=PTS2+50:P0(I
0:50UND 1,100,25,15,0,2

1 5 LOCATE ud,17=PRINT“

7:FRINT FT52:LOCATE 35,1B:PRINT®

ATE 35,1B:PRINT CASSE2

1580 IF PTS2>PTS THEN J6$=NJ2$:6070 1930

1590 RETURN

1600 *

1E10 7 BRRRERERtRssiasssassy

1420 * ¥t CREATION TABLEAU %

1630 7 BERSXRSERRTRARARILRLEYE

1640 °

1650 RANDOMIZE TIME:X=2:Y=2

1660 CA=INT(RNDI3) +1

1670 IF CA=1 THEN CA$="8":PEN 3:VC=1:50U

ND 1, {RND15007,1,7

1680 IF CA=Z THEN CA$=" ®:VC=0:50UND 1.(

RNDRSO0), 1,7

":LOCATE 35,1
":L0C

THEN SOUND 1,25,25,7,0

| 1690 IF CA=3 THEN CA$=" ":VC=0
1700 IF CA=4 THEN CA$=" *:VC=0

1710 IF CA=S THEN CA$=CHR$(Z00):PEN 2:VC
LOCATE X Y:PRINT CA‘;PD(X,Y)=VC

i (=K+1:IF X224 THEN X=2:Y=Y+{
1740 IF ¥:24 THEN RETURN

T
Al

1750 G070 1b40

1760 7

1770 7 SRRSRRRERELRESRREINLILIALS

1780 * 14 AFFICHAGE OBJETS 13

1790 7 BRERRRRRERRKERRRRTRRRLILLS

1800 °

180 ON INT(RNDXS) GOSUB 1830,1840,1850,

1860, 1870

i TURN

1830 FH=INT (RNDK25) +1:PV=INT (RND$235) +1:1

F FCUFH,PY)=0 THEN LOCATE PH,PV:PRINT CH

F%{202):FO(PH,PY)=5:FOR N=100 TO 50 STEP
~10:5OUND 1,N,5.15:NEXT:RETURN ELSE RET

RN . ;
1840 PH=INT (RND325)+1:PV=INT (RND$25) +1:1

F PO(FH.PVI=0 THEN LOCATE PH,PY:PRINT CH

F$:203) :FO(PH,FY)=4:FOR K=2 TO 8 STEF 4:

FOR B=5 10 1 STEF -1:SOUND 1,B+K$10,1,15
sNEZT:NEXT:RETURN ELSE RETURN

1850 PH=INT (RND8Z5) +1:PV=INT (RNDS25) +1:1
F P0(FH,PV)=0 THEN LOCATE PH,PV:PRINT CH

i
3 R




